o JAe w

CERZET TS

o EFl (ol ol (B
()e?

i




(0.1x[ )« (0.06x [ )

0.1:0.06

@ 100 ® 10 @0

@® 1000



3.

AT 0] B T L.

36:27=(36+9): (27+@)=4:0

D 10

@ 11 ® 12 @ 27

® 81




oA stz o] 7 2= %km olal, HollA ¢A=7k22] A=l

164k Ut} Jo14 $A=71A o] Al oA stz A
2lo] B RlA] AdE LrEhA 2

l1
2 R
5 m/ -
==
75:] 1 64km ‘rxﬂg



5.  o=olM @<t @710 o] obd ul, @ @] H HidA] 22 UEHY
AL

@ x 0.45 = @ x 0.09

B e o






S rEo
— T

5

]

A

ohe w2 8A

7k

T
=

o.

Z0]7} 20 cm @1 w18
cm =z 18 oF

™
=~

= o

ol =

IH 0

=

mo

~

ar

vl

Gul <

o
S
=X

H_T_ ~—

70 of
i
C3B

cm




of #e) EE 2Afste] BT 252

- T1 O [e}
SHgo] sHol T EAE go}o}_ stAo] 5 o)Lt}
An AT ﬂﬂOﬂ md B2Ax2 229 &

T;H:]cm o 27

_l°|‘
0:|:‘



w2 Tl A 7.5cm=E LERFH Zo] AA|2] 25 % oA A o] Aoj=
9 cm AA] A Q.

Ct-
Qe e






11.

Agole} Aol 2E AelS 7
322 AUt WFols} Agole]

B2 YErfAl2.

Yt
=%

1

7] 744

= °l, APele 242, Al



12.

AUt AR L AR tee g ggoli,

17} 14m Q ©, 17 LAl o] Al Hm U7




